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QUESTION 1

In stretched clusters, what is a benefit of implementing a virtual witness rather than a physical witness?
A. Reduced vSphere licensing

B. Shared metadata between separate clusters

C. Increased vVSAN datastore capacity

D. Increased compute for running VMs

Correct Answer: A

Reference: https://cormachogan.com/2015/09/11/a-closer-look-at-the-vsan-witness-appliance/

QUESTION 2

What are two purposes of a vSAN storage policy? (Choose two.)
A. Determine how storage objects are provisioned

B. Determine vSAN encryption level

C. Guarantee the required level of service

D. Enable deduplication and compression

E. Enable TRIM/UNMAP

Correct Answer: AC

Reference: http://www.vmwarearena.com/understanding-vmware-virtual-san-storage-policies-detailedview/

QUESTION 3

Which storage policy action results in a component resync?
A. Enabling object checksum

B. Changing object space reservation to thick provisioning
C. Adding an IOPS Limit rule to a storage policy

D. Changing the failure tolerance method

Correct Answer: D
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QUESTION 4

A system administrator running a 6-node cluster is trying to enable the deduplication and compression
feature. During the process of switching it on, the General vSAN error occurs.

What is the possible reason the General vSAN error occurred?

A. Force provisioning setting is required.

B. The cluster is a hybrid environment.

C. Storage policies require FTT=1.

D. The cluster is an all-flash environment.

Correct Answer: B

Reference: http://www.optiodata.com/documents/optio/datasheets/dell-emc-vxrail-appliance-techbook.pdf

QUESTION 5

A vVSAN administrator is working with a network administrator to design a highly resilient all-flash vSAN cluster.
Which design factor allows for a highly resilient vSAN network?

A. virtual distributed switch

B. NIC teaming

C. dedicated port groups

D. virtual standard switch

Correct Answer: C

5V0-21.19 VCE Dumps 5V0-21.19 Exam Questions 5V0-21.19 Braindumps

5V0-21.19 VCE Dumps | 5V0-21.19 Exam Questions | 5V0-21.19 Braindumps 3/3


https://www.passapply.com/5v0-21-19.html
https://www.passapply.com/5v0-21-19.html
https://www.passapply.com/5v0-21-19.html
http://www.tcpdf.org
https://www.passapply.com/5v0-21-19.html
https://www.passapply.com/5v0-21-19.html
https://www.passapply.com/5v0-21-19.html

